



One Dimensional Dave equation [Hyperbolic] let
$$y(x,t)$$
 supresents the 1-D wave equation
(i) $\frac{\partial^2 y}{\partial t^2} = a^2 \frac{\partial^2 y}{\partial x^2}$
Where $a^2 = \frac{T}{M} = \frac{Tension}{Mass per unit length}$.





UNIT 3 APPLICATIONS OF PARTIAL DIFFERENTIAL EQUATIONS SOLUTIONS OF ONE DIMENSIONAL WAVE EQUATION

Possible Edution of 1-D wave equation:

1. Ylx, H = (A₁e^{bx} + A₂e^{bx})(A₂e^{px} + A₄e^{px})

2- yeart) = As (cospx + Assipx) (A-ruspat + Assinpat)

3. Y(x, +) = (Aqx + A10) (A16+A12)

Suitable Solution;

Y(x,t) = (A cospx + Bsirpx) (Cospatt Dsinpat)

Assumptions for dealing 1-Dinensional wave equation 1

- 1. The notion takes before entirely in one plane.
- ie) my-plane.
- 2. The Tension T'is constant at all times and

at all pants of the deflected stowing

- 3. The effect of friction is negligible.
- 4. The storing 9s perfectly flexible.
- 5. The slope of the deflection home at all points
- neglectable.

Boundary Conditions

Given Displacement

iii) y(x10) =0





UNIT 3 APPLICATIONS OF PARTIAL DIFFERENTIAL EQUATIONS SOLUTIONS OF ONE DIMENSIONAL WAVE EQUATION

1. A String B strictched & fastered to two points x =0 & X=1 apart motion is started by displacing the string into the form y= K(lx-x2) from which it is released at time, t=0. Find the displacement of any point on the string at a distance of x from one and at time t. one dimensional wave equation is

 $\frac{\partial^2 y}{\partial t^2} = a^2 \frac{\partial^2 y}{\partial x^2}$, where $a^2 = \frac{1}{M}$

.. The suitable solution is y(x,t) = (A work > + B/sin > 2) (c world + Dsin lat)

Boundary condition:

i) ylo(t)=0 , +>0

ii) 4(2, t)=0, t>0

Initial condution:

at y(20) =0. in) y(x10) = 4(x)102x22

= K(lx-x2), ocx 21.

Applying condition (i) in sign ()

ylo,t) = (A ws 40) + B sin ())(c world + D sin (at)

0 = A(c costat + D sin hat)

A=0 [Birce Boundary condition]

CLOSTAL + Dusin Nat #0

y(x,t)= B subtant (c contact + Desirate) -> @ applying A=0 to eno









$$y(x_1t) = b_n \sin \frac{n\pi x}{2} \cos \frac{n\pi at}{2}$$

$$= \frac{2}{n} b_n \sin \frac{n\pi x}{2} \cos \frac{n\pi at}{2} \longrightarrow \bigoplus$$

$$Applying condition (iv) & aquation \(\bigoplus \)$$

$$y(x_1t) = \frac{2}{n-1} b_n \sin \frac{n\pi x}{2} \cos \frac{n\pi at}{2}$$

$$K(Lx-x^2) = \frac{2}{n-1} b_n \sin \frac{n\pi x}{2}$$

$$Expand b_n & that sian \(\prod \) dx$$

$$= \frac{2}{n} \int_{1}^{n} f(x) \sin \frac{n\pi x}{2} dx$$

$$= \frac{2}{n} \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$= \frac{3}{n} \int_{1}^{n} (2x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$U = 2 \int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} dx$$

$$\int_{1}^{n} f(x^2 - x^2) \sin \frac{n\pi x}{2} d$$





UNIT 3 APPLICATIONS OF PARTIAL DIFFERENTIAL EQUATIONS SOLUTIONS OF ONE DIMENSIONAL WAVE EQUATION

$$=\frac{3K}{2}\left[\left(0+0-\frac{2}{9}\frac{\cos n\pi}{(n\pi/2)^3}\right)-\left(0+0-\frac{2\cos n\pi}{(n\pi/2)^3}\right)\right]$$

$$=\frac{3K}{2}\left[\frac{-2(-1)^n}{(n\pi/2)^3}+\frac{2}{(n\pi/2)^3}\right]=\frac{4K}{2}\left(\frac{2^3}{n^3\pi^3}\right)\left[(-1)^n+1\right]$$

$$=\frac{4K}{2}\times\frac{2^3}{n^3\pi^3}\left[1-(-1)^n\right]$$

$$=\frac{4KL^2}{n^3\pi^3}\left[1-(-1)^n\right]$$

$$=\frac{4KL^2}{n^3\pi^3}\left[1-(-1)^n\right]$$

$$=\frac{8KL^2}{n^3\pi^3}\left[1-(-1)^n\right]$$

d. It lightly structured string with fixed end points x=0.8 x=1.18 initially in a position given by $y(x,0)=y_0 \sin^3 \frac{\pi x}{1}$. If it is released from next from this position, then find the displacement.

The one dimensional Wave equation is

$$\frac{\partial^2 y}{\partial t^2} = \alpha^2 \frac{\partial^2 y}{\partial x^2}$$

The boundary conditions are









Applying (ii) we get;

$$\frac{\partial}{\partial t} \{H(x_1) = 0\}$$

$$B = \frac{\partial}{\partial x} \frac{\partial}{\partial x} = 0.$$

$$BD = \frac{\partial}{\partial x} \frac{\partial}{\partial x} = 0.$$
Here $B \neq 0$ [The $B = 0$ rung get orthogonal solution of A]
$$D = 0$$

$$Sub D = 0 \text{ in } B$$

$$Y(x_1) = B = Sin \frac{\partial}{\partial x} = 0.$$

$$E = Bc = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = B = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = B = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = B = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = B = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = B = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial}{\partial x} = 0.$$

$$Y(x_1) = Y_0 = Sin \frac{\partial$$